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EFETHETRAOR
FRERERAOGIEAZEHZED) %*D5£E5H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 301 339 382 721
EARI1TH 1,043 1,148 1,273 2,421
mAET2TH 1,181 978 1,333 2,311
A R ET 2,359 2,303 2,602 4,905
BEBRT1TH 624 595 640 1,235
B ERT2TH 396 386 435 821
B ERI3TH 312 357 315 672
B ERTATH 533 474 505 979
B ERSTH 842 891 876 1,767
I ER6TH 381 393 414 807
HiF = HT 542 574 618 1,192
45 KHT 530 599 630 1,229
HHT 1,003 1,069 1,195 2,264
BEHT 52 52 57 109
A K BT 606 679 709 1,388
7 HT 439 435 454 889
RILHT 460 466 521 987
FORHET 206 184 219 403
RFHT 202 199 225 424
KHET 359 321 369 690
KET1TH 240 238 282 520
XKET3TH 292 332 324 656
XETATH 872 797 977 1,774
fit] LLI BT 2,462 2,736 2,885 5,621
JE LT 988 1,081 1,180 2,261
EHERT2TH 316 451 447 898
EHERISTH 433 529 518 1,047
EHERT4TH 393 461 492 953
EHERSTH 354 402 450 852
EAEHET6TH 209 285 267 552
EHERT7TH 168 248 256 504
=Y:i 339 329 358 687
8 [F T 1,648 1,449 1,683 3,132
=i ET 514 537 623 1,160
2l 3t BT 474 561 549 1,110
N =15 101 108 121 229
+HEFRT A 638 632 694 1,326
L EFHTER 843 745 833 1,578
L HAET 1,962 2,075 2,220 4,295
LFH¥ABT1TH 73 119 113 232
LH¥\ET2TH 159 160 179 339




HEZ HH 5 £ i
LFEI3TH 151 154 159 313
L¥AET4 T B 165 178 200 378
LHABTS T B 215 258 294 552
I == HT 198 204 218 422
JOSFET1TH 561 541 526 1,067
JNsFET2T H 552 512 570 1,082
JO=fET3TH 426 435 411 846
M=rET4T H 1,058 1,039 1,088 2,127
I S5k T 589 583 652 1,235
I=F5di) 218 201 245 446
Jt B BT 29 34 37 71
E[d:) 404 352 340 692
478 = HT 832 915 988 1,903
FHRHET 80 76 90 166
1 2 FF T 362 388 419 807
BEFE1TH 97 117 126 243
BEFE2TH 281 306 328 634
T EHT 127 131 131 262
/N BB T 3,132 3,075 3,265 6,340
1R T 269 280 310 590
YEZF HT 772 748 776 1,524
EXBI1TH 271 246 269 515
=/ LLIHT 216 157 126 283
Hh ek HT 26 26 4 30
T A EHET 11 16 12 28
THHEE1TH 730 645 692 1,337
THHEE2TH 537 551 532 1,083
THHEESTH 855 884 1,035 1,919
TEHE1TH 176 177 170 347
TEHRI2TH 808 738 848 1,586
TEHRISTH 170 176 187 363
TEHRI4ATH 97 112 118 230
TEHRISTH 208 228 233 461
T HAET 517 526 562 1,088
THET1TH 343 340 355 695
THET2 T H 463 421 471 892
TH#RBI3TH 197 190 219 409
TET4TH 157 147 175 322
TH#RBI5TH 169 177 204 381
TH#RI6TH 142 169 168 337
HAHT 17 16 8 24
T 187 199 179 378
#8)11 HT 47 46 53 99
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HEZ HH 5 £ i

KT HT 295 309 328 637

7B KHT 1,645 1,614 1,760 3,374
FSIED 260 311 294 605
XHILET1TH 819 705 893 1,598
XHILET2TH 318 346 367 713
X#ILET3TH 152 144 162 306
1 [ BT 44 67 72 139
hHET1TH 398 420 411 831
hHET2TH 463 459 513 972
hHET3TH 461 505 504 1,009
niEld:) 252 218 266 484
th 2 JEHT 215 194 218 412
ch T 135 129 166 295
FRAHT 777 852 851 1,703
At FAET 881 867 986 1,853
75 K ERET 780 936 985 1,921
75 2 [N HET 1,694 1,790 1,944 3,734
A 912 854 953 1,807
$FHET1TH 538 481 503 984
$FHET2T H 401 382 427 809
¥FHETST B 195 199 221 420
| BT 165 205 218 423
HET1 T B 388 474 494 968
HET2 T B 344 354 405 759
HET3 T B 358 378 429 807
HET4 T B 125 119 148 267
J\ & T 995 1,051 1,092 2,143
J\HHT 157 191 186 377
+ A ERT 248 274 302 576
T A HT 1,616 1,586 1,796 3,382
THB1TH 24 20 18 38
THRB2TH 1,479 1,322 1,347 2,669
T4HBI3TH 196 173 161 334
THRBI4TH 369 292 362 654
T4RB5TH 919 613 915 1,528
T4HBI6TH 673 670 712 1,382
THRI7TH 348 360 409 769
T4HBISTH 373 390 417 807
THRBOTH 412 445 497 942
THB12TH 237 255 270 525
T+4R13TH 318 366 384 750
o NIEL] 1,953 1,652 1,909 3,561
HARRHET 1,401 1,256 1,168 2,424
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HEZ HH 5 = 5
F AR K/ ET 296 368 385 753
EH AR ERT 160 162 164 326
- WNEL] 131 119 135 254
FH AR hHET 204 223 259 482
FHARAKHET 448 460 498 958
& AR EHT 315 328 366 694
HARE)IIHT 275 254 289 543
=N ] 108 118 129 247
FH AR JTHT 100 98 106 204
EARERHE 680 574 639 1,213
B K BRHET 385 400 408 808
Edsa] 888 871 1,007 1,878
BEFET1TH 755 724 737 1,461
BEIFRI2TH 589 592 669 1,261
BEFRISTH 346 404 405 809
Al Ffr BT 1 2 1 3
AIFTET1TH 428 387 422 809
AIFFAT2T B 598 596 669 1,265
AIFFBRT3T B 667 746 813 1,559
A HT 184 195 185 380
H_LH 247 311 335 646
NER) 795 738 813 1,551
ERL 788 938 943 1,881
= HHE 1,729 1,892 1,955 3,847
HETHRET1TH 571 596 643 1,239
HLARET2TH 519 595 627 1,222
HLIREISTH 295 369 366 735
P fx T 320 357 386 743
mERI1TH 1,173 1,118 1,259 2,377
mERI2TH 856 950 1,047 1,997
FA T 1,359 1,357 1,510 2,867
= RITET 518 478 533 1,011
= AHT 355 289 324 613
AR#4HT 7 5 4 9
) 515 559 499 1,058
SHET1TH 716 619 761 1,380
S HET2TH 405 435 466 901
aHEI3TH 857 720 873 1,593
S HET4TH 766 610 816 1,426
E& T 1 1 0 1
J\BRET1TH 218 248 269 517
J\BRET2T B 222 216 236 452
J\BRBET3TH 247 304 314 618
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HEZ HH 5 £ 5

1TE R 299 415 399 814
FIEIET1 T B 161 188 195 383
FIEIET2 T B 302 431 462 893
FIEIBISTH 112 179 175 354
FEOER1TH 159 241 233 474
FEOER2TH 0 0 0 0
FENDERITH 18 16 2 18
0 0 0 0

BEE 89532 | 90455| 98210| 188,665
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